Pre-AP Algebra Il
Notes Day #[JJli] 9°
Solving Radical Equations & Inequalities

SOLVING RADICAL EQUATIONS

REVIEW: Radical Equations include radical expressions. We can solve a radical equation by
raising each side of the equation to a power. The steps were shown previously.

Directions:  Solve the following equations. Check for extraneous solutions.

Ex. 1: x—4=3 CHECK:
1 2 Vx-4 =3
(ﬁ) - (q3) ! Chek X=13
— = Y——-r;_ - 3
_H—iq_- \)—q_ =3
X= I3 3=3/
Ex. 2: IJ2x+1=3 CHECK:
(3J2)(+I)3=(3)3 3\)2)(“ =3
12X+ = 2|7 Check x =13
——'Z-I——ZG- )+l =3
H= e+ =3
X =13 Y7 =3

3=3/
Ex. 3: J2x+1=-3

(3 add )3" "3)3 Note: all odd ndex solubions wil| wwork
X+ = -7
_-l —_
1 =-18
2
=-14
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Text Box
99


SOLVING RADICAL INEQUALITIES

A radical inequality has a variable in the radicand. To solve radical inequalities,
complete the following steps.

Steps for Solving Radical Inequalities

Step 1: If the index of the root is even, identify the values of the variable for the radicand is
nonnegative.
Step 2: Solve the inequality algebraically.
Step 3: Test values to check your solution.
Ex. 4: 2X+2)+1>5 CHECK:
nust be oreater than zer or equal (haek x=-2  Jzx¥z +125
(vegebives il be imaginary) Ntz 4125
2X+2 20 Joz +125 - > =74z #l 25
-7 -2 X -1 ] ‘ ;—ﬁ J=z 125 X
’QSZ __% > Y & -= Fum— imaginery
7)‘( 7" Jan 2 , Creck X=0  Jzx4z Hz25  §T <@ <@
[ X2- - Jiniz 4125 iz <2
(52} 2 (4 ey o 1125 / S5
- +
Z)(i—ZZ 2_|16 i+l 25 between 2 ond 3 25 X
X 2 14 Check X=1 JIXFz £125 4+l =5
1 72 Iz, +|_>56/ 525/
. JHIZ 412
0T 4125
EX.5 JBx=2-2<4 ) - N CHECK: g -2<4
HX-420 Vix-4 -2 <4 T 0 Chek X=0 {4 -2< 4
H 4 a7 7 IR WY SN o -1<H
— N 7 -2 < 4
L% Zf{- \j"‘x_q < 6 '|ma9'.{\q(\/
u 2 2
(%) < (6) |<x <10 Check x=2  VOKG -1 <Y
V(X 2 6 \FIEz-g -2 <H
LIX_I_;:I" <+3L{ m'ld-l
Vg -2 <
< 2-2 <4
10 Check X =1l -4 -z <4
X VE(FY -2 <y
JI-4 -2 <4
Vo -2 <Yy
V3% < JH0 < J9qq
6<Jw < 7
(l:ei'ween Gand1)-7 <4
(between yands) <4 X
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